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I I m v
sin + + - —
cos + — — +
tan + - + -
cosec + + - -
sec + — — +
cot + — + —

3.1.4 [Buswaldla Qaai uea 27 [QRaiR :

EED] ugel (212
sine R [-1,1]
cosine R [-1,1]

tan R—{(2n+1)g:ne 7} R

cot R-{nn:ne Z} R

sec R—{(2n+1)§:ne A R-(-1,1)
cosec R-{nn:ne Z} R-(-1,1)

3.1.5 90° &l L WUl $2dls Rl W2 sine, cosine ¥R tangent -\ ‘-cl\C—Lil :

0° 15° 18° 30° 36° 45° 60° 9(0°
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3.1.7 200 vieusl (81 ¢ o 0 515 vl €ld, dl
sin (—=0)=—sin 6, cos (—0) =cos O
tan (-0)=—tan 6, cot (-0)=—cot O
sec (—0) = sec 0, cosec (—0) =—cosec 0
3.1.8 2Ysd view Aviltd S2ais ol
6L AL AHL VRUDIAL AL 5 dstadel oiddl VRl A4S VR 58 9. i Aol Haod uReuHin
Bisiafidly Mol s 6. d «dl2 uHel o :

(i) sin(A+B)=sin AcosB+cosAsinB
(i) sin(A—B)=sinAcosB—cosAsinB
(i) cos (A+B)=cosAcos B—sinAsinB
(iv) cos (A—B)=cos AcosB+sinAsinB

tanA + tanB
(v) tan(A+B)= 1—tanA tanB
) tanA —tan B
(Vi) tan(A—-B)= 1+ tanA tan B
- cotA cotB -1
(vi) - cot (A+B)= cotA + cotB
cotA cotB+1
(vii) ~ cot (A=B)= cotB —cot A
' . . 2tan A
(x) sin2A=2sinAcosA= + 1anA
1— tanzA
(%) cos2A=cos’ A—siP A=1-2sin* A=2cos’A—1= ——5—
1+tan” A
. 2tan A
(x1) tan2A = | — tan’A

(xii) sin3A=3sin A—4sin’ A
(xiil) cos 3A=4cos* A—3cos A

) 3 tanA — tan’ A
(xiv) tan3A =

1 —3tan’ A
A+B A-B
(xv) cos A+ cos B= 2cos R
. . A+B . B-A
(xvi) cos A—cos B = 2sin Tsin—

. . A+B A-B
(xvi)) sin A+ sin B = 2sin ; cos ;
A

-B
2

. . A+B .
(xviii)  sin A—sin B = 2cos S sin




(xx)
(xxi)
(xxi)

(xxii)

(xxiv)

(xxv)
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2sin A cos B =sin (A + B) + sin (A—B)
2cos Asin B=sin(A+B)—sin(A—B)
2cos A cos B=cos (A+B)+cos (A—B)
2sin A sin B =cos (A—B)—cos (A+ B)
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sin—==%x,[———
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A 1—cosA N oo
tan—== —A A
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2

18° W2+ Bistafdla [l ye

Q1L %, 0= 18°. d¥l, 26 =90° — 30

qul,

{12,

quil,

sin 20 = sin (90° — 30) = cos 30
sin 20 =4cos*0 — 3cos 6

cos 0 #0.

2s5in 0 =4cos’0—3 =1—4sin’0

4sin* 0 +2sin®—1=0.
2+Jat+16 —1£+5

sin 9= =
8 4

0 =18° sin 0> 0. aul, sin 18° =

5 -1
4

cos18° = mz\/1_6_12\g =\/10+2\/§

4

ed, UL UAAL] cos 36° i sin 36° {12 WAL Hadl asla

214,

6—2n5 _ 2425 s+
8

8 4

cos36°=1-2sin* 18°=1-

cos36° =

J5+1
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IR'{L, sin 36° = \/1-cos*36° :1[1—# = 7“10;2\/5

3.1.9 Busa@dla aHlse ¢

2 ABAL BstBdla (@8 qaddl weilsel Bsiafdla w-{lsel sé 6. a 2ud wdlse 2l
(82 cpvaRid Sl ddl did vRIHL SIS YRl et Wi, At €l dl idl dHlsud [ty séald, o
Als0AL B35 0 <0 <2 7 Hl Sld dl dnl Hea B3d sda ©. BuisiBidly aslsedl dun Bsaq
M1l yauls 7 dioll M5 dedl euus Gia sdal.

FPusiaidly amlse-u s Gial
(i) ol 515 R o L2, sin O = sin o S, dl
0 =nn+ (—1)o, n e Z>Ud A5l s G5 sl
(i) <8l 51 BRIl o HI2, cos B = cos oL ¢l dl
0=2nn+a,ne Z, »Ud A5l s G54 sl
(iii) 8l tan © = tan o MUl cot O = cot o €IA, dl
O=nn+o,ne Z, dUd oiq A5l AUs B3¢ Yal.

(iv) sin® O = sin* o, cos*0 = cos® oL 2r\ tan® O = tan® o AH15WU AHALA sl @us Bdl ¢, dl
O=nn+ta,neZ®.

(V) sin 0 = sin o 2l cos O = cos a ol AHLsWUL B5ad A s2dl BHdl 0 = 2nn + «a,
nelZ®.

(Vi) acos @+ b sin®=cuslRl A58 B56 HAAdL, B a =7 cos o0 2L b = 7 sin o A9, il
N b
r=a+ b tan o = 4 YLy,

éel,acoseersin@:c'iQit'LcRr(cosecosoc+sin9sinoc)=C%LLLL

rcos(@—a)=c
C a\ Y NA
. cos (0 —a)= = AHLswUAL B5e 21U 9,

Acos0 + B sin® «{l 4 v Yty BHdl 2iqsH JA2 + B2 1 - A2+ B2 24l

3.2 GelgRel
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48 A3l Brosiaion adastt uRe U2 3sdi, s = 6m AL 21 AUl dons 29 24 aquedl Biosdl 7= 48 A .
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o ZL(U{'ﬂ dol§ _6m _ T _ 53 50
aga-l Bleur 48 8
Gels2m 2 <o 0+l 5155 (ot W2 A= cos™® + 5in'® 4 dll, wilbid 53 3 © <A<

B34 2], A=cos?0 + sin*0 = cos® 0 + sin® 0 sin* 0 < cos>0 + sin* O
SA<]
qotl, A= cos* 0 +sin*0

2 2
= (1 - sin® 0) + sin* O = (sinze—%) +(1—%) = (mﬂe-%) +

B w

ll, 2 <asl,

6ol29 2ld ¢ cos? O + sin O = cos® O + sin* 0 (1 — cos® 0)

=1—-sin*0cos* 0O
=1- 1 sin*20
4
sin?2 0 <Al [&@diR [0, 1] 9.

-~

1 - 1
" sin?2 0 L [QdR [0, ﬂ .

1 N 1 3 N
=7 sin?20-1 [Actiz [1‘2’ 1—0} = [Z’ 1} .
Beld2BL 3 1 /3 cosec 20° — sec 20° <, Y&t Hadl.

3 1

Ny o 0= -
G54 : /3 cosec 20° — sec 20 sin20°  cos 20°

\/gcos 20° — 5in20°

© sin20° cos 20°

3 1 .
—co0s 20° — — sin20°
=42 2

2sin 20° cos 20°

Sin60° cos 20° — cos 60° sin20° N
4[ j (w2 ?)

sin 40°

sin (60° — 20°)
( <in 40° J 4 (w2 ?)
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Bels20L 4 < ol 0 oflost AWML ¢, dl WA 53U 5

1—sin © 1+ sin®
— + — =—2 sec©
1+ sin O 1—sin0

1—sin® 1+ sin® 1—sin0 N 1+ sin© 2 2
B5¢ : + = - _
I+sin® '\ 1-sin® \/1— sin’0 \/1—sin29 \/cos29 lcos61

(MAs ardlds o We [o2 =|a])

2], 20 © 5 0 oflost AL 9. Al |cos 8] = — cos O

R 2
adl, Lol = ——— =2 sec O
—cos 9

BELSRQLS < fan 9° — tan 27° — tan 63° + tan 81° <, He 2UlHl,
354 : tan 9° — tan 27° — tan 63° + tan 81°
= tan 9° + tan 81° — tan 27° — tan 63°
=tan 9° + tan (90° — 9°) — tan 27° — tan (90° — 27°)

=tan 9° + cot 9° — (tan 27° + cot 27°)

1 2

N o o = -
+ = ,
e, tan 9°+cot 9° = " o 0 T sinis®

1 2 2

2 2 o o — — =
d o 3d, tan27°+ cot27 27 cos 270~ sinsaS  cos6°

(2) 24 (3) = (1) L Y,

2 2 2X 4 2X4
tan 9° —tan 27° — tan 63° + tan 81° = - = =4

sin18°  cos36° +J5—1 \/g+1_
’ cos36 —sinls
cos36 sinls

AL SL.odl.

2(sin54 - sinlS)

cos36 sinl18

2(2 cos 36 sin18)

cos36 sinl18

(512 3 cos 0 <0).

@)

(wu2?) @)

(w2 ?) 3)

(Bl Guylol sl AR)
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Bsa @ A, Lol =

Gels20l 7 uHlS8L sin O + sin 30 + sin 50 = 0 B3dl.
sin O + sin 30 + sin 50 = 0 U4 1|50 O,
(sin © + sin 50) + sin 360 =0

B34 :

s Aol S35,

sec80—1  tan8®

sec4®—1 tan20

sec80—1

sec40—1

(1—cos80) cos40

cos80 (1—cos40)

25in’40 cos40
cos802sin*20

sin40 (2 sin4 0 cos4 0)
2cos80 sin*20

sin4 0 sing 0
2cos80 sin*20

25in20 cos20 sing 0
2cos80 sin*20

tang 0
tan2©

25in30 cos 20 +s5in30=0
sin30 (2cos20+1)=0

sin 30 = 0 &4l cos 20 = —

1
2

2 2 nm
%ULR sin 30 =0, AR 30 = nw AHYAL 0 = ?

%UIR cos 20 = —

| =

2, 0= (3n+ 1) g %tQLClLGZGn—l)g

~ nm ~ N N
LA O Al BHdl O = —, n e Z. ddl, Hidld G5¢ 21l

BEIRWA 8 : 2 tan® x + sec? x =2, 0 < x < 27 B34l

3

Bsa : e, 21am’x +sex=2

1 ~
fan x = £ 7 Hal,

1

é,a{,%?ttanxz 3

k‘

N\ N TE 7Tc
Ao dl, x = PR

{9:9=
3

27 - 21 i
= cos ?,d{t%26=2nni 3 2{Ydl O = nw + 3

nmw
—.,ne’z

} 299l
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(w2 ?)

(w2 ?)

(w2 ?)

(w2 ?)
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~ ~ b -1 NN 5TC 117 “
d o A, Aanx= 5 A5 dll, x=——Ed = (w2 ?)

w4, 0 < x < 2mHL 20U AHLSWAAL A B3,

[dgd saueil usi

I 3n 5T T . ~ -
GeldWA 9 : 1+c0s; 1+cos? 1+c0s? 1+cos? | Hed AL

N 3 5 7
G4 : (1 + cos E) (1 + cos _n) (1 + cos _ch (1 + cos _th
8 8 8 8
T 3T 3T I
= (1 + cos—j (1 + cos—) (1 + cos (n - —)) (1 + cos(n — —j)
8 8 8 8

b 3n
- (l—cosz —) (l—cosz —) (w2 ?)
8 8
.2 T 3T
= sin” — sin” —
8 8
1 T 3n
=—|1l-cos— || 1—cos— 2 ?
4( 4)( 4) (w2 ?)
= i(l—cosg) (1+ cos%) (’LI.I. 2 ?)

Il
ENGIE
VR
p—
|
)
=)
[>%

[\*)
~la
N~
Il
-
—_—
(S
| =
N—
Il
0| —

N 2T 4an ~ N . N, N
BELSRLL 10 : %l x cos O =y cos (9 + T) =z cos (9 "‘?) S, dlxy +yz + zx 7 HEd ML

1 1 1
@%C—[ : 2"[@1, DML xy +yz +zx = x)z (;+;+;j )

A zn 4Tc
"Rl 5, x cos O =y cos 9+T =z cos 9+? =k

. k k . k

dl, x= e,yZ—M Qrt"lZZ—M
cos cos (9 + j cos (9 + j
3 3
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1 1 1

l[cos6+cos(6+2—nj+c0s(6+4—ﬁ):|
Xy z k 3 3

wH, Tt

1 2T 2T
= —| cosO+cosO cos — — sin0 sin—
k 3 3

4T X . 4T
+ cos0 cos— — sin0 sin —}

3 3

1 —1 \/g 1 \/g

= — cos9+c0s9(—j—— sin® ——cos0 +—sin® 39
k{ 5 ) 5 5 (e ?)

1

=—x0=0
k
112, xy+yz+zx=0

Beld2nl 11 : ol o w4 B 2 u¥lsW0l g tan® + b secd = ¢ <l olly 1y, dl AlBd 52U 5

2ac
tan (o + B) = 5>
a” —c

Bia el aran O +bsecO=c U4 O. A, a sin 0 + b = ¢ cos O A58l BUHLOL 5l

, 0
2tan — 1—tan™ —
2 h _ 2
§in 0= L0 A cosO ;
1+tan™ — 1+tan™ —
2 2
0 ,0
a Zl‘ai’lg cll1—tan E
gl — o T8
1+tan™ — 1+tan™ —
2 2
, 0 0
(b+c) tan 3 +2a tan; +(b-c)=0
e . “\ N (X‘ N B Y . “\ N
#iL fan— i (e AMlsReL © 214 tan— 2\ tan— d ofloy 9. (e ?)
—2 ~ b- A
. tang + tan— = a A t(/mg tanE = ¢ (Ql.l. e ?)
2 2 b+c 2 2 b+c
tang+tanE

o B 2 ~ ~ R
8d, [y an| —+—| = o B il GualdL s,
2 2 1—tan Z t(ln;
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—2a
—ea oy
tan(a+B]_ bte _24_74
2 2 _b-c 2 ¢
b+c
5302,
o+
OL+B 2tan 5
tan 2 = PENCE
2 1 — tan®
o(-¢)
B ¢/ _ 2ac
tan (o + B) e PR

o129 3d catan 0 + b sec 0 =c

=  (atan 6 —c)*=b*(1 + tan*0)

=  dtan*6 —2ac tan O + ¢* = b* + b* tan* 0
= (@-Db)tan*0-2actan® +c*-b=0

wd A58 (1) AL ol fan o 2t tan B el

2ac 2 —b?
tano + tan B = 22 and fan o tan B = pEae
_ a*—

tan o+ tan 3

tan (o + PB) = 1—tan o tan B

2ac
a? - b? 2ac
Cz _ b2 - a2 _ C2
1 —
a’ - b’

Bels2BL 12 : 2 sin* P + 4 cos (o + PB) sin o sin P+ cos 2 (o + B) = cos 20 ALGd 53,

G54 : gLl =2 sin® B+ 4 cos (o + B) sin o sin B+ cos 2(a + P)

(D)

[(1) w_ell]

=2 5in’ B+ 4 (cos o cos B — sin a sin B) sin a sin B+ (cos 2a cos 2P — sin 2a sin 23)

=2 5in’ B+ 4 sin o cos o sin P cos B — 4 sin® o sin® B

+ cos 2a. cos 2P — sin 2o sin 23

= 2 5in’ B+ sin 2a sin 2P — 4 sin® o sin® B + cos 20 cos 2P — sin 20 sin 23



= (1 —cos 2B) — (2 sin* o) (2 sin* B) + cos 2o cos 23
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(w2 ?)

= (1 —cos 2B) — (1 —cos 2a) (1 — cos 2P) + cos 2. cos 23

= cos 20,

(w2 ?)

oloy Ad : 4. 6l =2 s5in? B+ 4 cos (o0 + PB) sin o sin B + cos 2(a0 + B)

=2 sin* B+ 2 cos (o + B) (cos (ot — B) — cos (o + B)) + 2 cos? (o + ) — 1

=2 s5in* B+ 2 (cos> o — sin* B) — 2 cos? (o + B) + 2 cos® (o + B) — 1

(- cos (o + B) cos (o — B) = cos? o — sin® B)

=2cos’a—1=cos2 o =2%.06ll.

NN N

GEISRWL 13 ¢ 0 2dl 6L el [Qeuld sdl & & %l

N\ Y ¢ Y ¢ ~\
215 LU UL (fan) L 6llost ALdLAL UL (fan) «lL

o\ NN N N NN . k+1 .
kOWRLL ALY, i, dHHAL dSlad ¢ AL, dl AllGd 52U 5 sin O = —_1 sin @

G54 : WAL S, 0 =0+ B. 20l tan o=k tan P

tano. g
Q){%[q[ tanB - T
o, dloL-[auioL sl
tano+tanP g +1

tano—tanP  f—1

sina.cosB+cosasinB k41

Al sinocosP —cosousinp kg —1
N sin(@+B) k41
aql, — = ——

sin(=B) " k-1
gdo—PB=02da+p=0>ud .

N sin® k4
aql, — =

sinG k-1
Belsawl 14 : G3dl J3 cos@+sin®= [
G54 wuld uHlswA 2 93 cuoldl,

3 [N |
7c0s9+5sm9——2 2| p p

24l

. n N T T
oo HdlY G54, 0 =2mm + R

T . T,
cos—cos0+ sin—sin® = cos—

(w2 ?)

(w2 ?)

. k+1
AYL sin O = T, Sin [0}

(w2 ?)
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N\ Rt Yt T T N T T
defl, Hidld Bsdl, O=2mm+ A 2mm— A

5T N s
LO0=2mn+ — AU 0=2mn - —
12 12

Sqaall usll

A (A8 A e A 2d 2uua 1R [Qsennidl Aoy [Qseu e 3] A sHis 15 &l 19 awu
sl G Ul :

N\ _4 Y
Gelg.L 15 <A ftan 0 = —3, dlsin®= ...

—4 . -4 . N ~
(A) —5 g g e, (B) 5 2l % ©) g U, —g (e (D) 21 usl 215 val e,

~ . ~ oA ~ 4 - L 4
(3?56{ D0 2 oflogl AIWHL UL ALAUL AWLHL €9, 518 S fan 6 = 3 ol 0 oflon AWML ¢l d sin O = g

NN o s N N, 4
i % O ALUL AWML lY dl sin 0 = 5

L [asen (B) ©.

BELERBL 16 : %L sin O -l cos O UHLs8L ax> — bx + ¢ = 0 <Al 6{ly €ld, dla, b A ¢ e, WESIKIN]
52 6.

A &#+b*+2ac=0 B) @*-b+2ac=0

©C) @?+c*+2ab=0 D) a*-b*-2ac=0

G5 : 28], 5in 0 27 cos O 3L AHSWL ax? — bx + ¢ = 0 <l ofly ©.

~ . b N c oY
adl, sin0+cos 0= — 2 sin O cos O = — (w2 ?)
a a

&d (sind + cos 0)* = sin*0 + cos?0 + 2 sin 0 cos O [MAUH~AL BUUIdL S,
2

b 2c ~
— =1+— 2Adl @’ — b* + 2ac = 0 4L,
a a

A2 [Aseu (B) 9.

GELSRWL 17 : sin x-cos X | HOTH YA 8.

A 1 ®) 2 © & D)

N —

s

B3a : sinx-coslesin2xg M 5 |sin2x | <1.

2 2°

. 1
<sinx-cosx< —

YL -1 <sin2x < 1 < — 5

| =

L [asen (D) ©.



BELSRL 18 : sin 20° sin 40° sin 60° sin 80° L HEA .......... 0.

-3 5 3
A 15 B) © 1
G5A : sin 20° sin 40° sin 60° sin 80°

- @ sin 20° sin (60° — 20°) sin (60° +20°)

_ @ 5in 20° [sin 60° — sin® 20°]

3 ) o
[Z—sm 20}

=3 1 [35in 20° ~ dsin’ 20°]

= ? sin 20°

BT o
_TXZ(Smm)

L [@sey (C) 9.

T o1 4T 8T . N
GelsmL 19 : cos ; cos ? cos ? cos ? 1HA ¢9.

-

1 -1

B) 0 © < (D)

1L 2T 4T 8T
Cos — CcosS ——cos — coSs—
5 5 5 5

1 T T 2T ATC 8T
= 2Sln— COS— COS— COS— CcoS—
5 5 5 5 5

LT
28In—
5

1 oo 21 4T 8W
= SIN— COS— COS— COoS—
5 5 5 5

T
2851tn—
5

1 o am 4T 8T
= Sin—— CcoS— COoS —
. T 5 5 5
4 .51tn—
5

1 o 8m 8T
= SINn— COS —
5 5

. T
8sin—
5

Buswfdla Qw43

6
[sin 60°= ﬁ)
2
(w2 ?)
(w2 ?)
-1
16

(w2 ?)

(w2 ?)

(w2 ?)
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. 16w
Sin—-

. T
16 sin—
5

) T
sin [37’5 + ]
57

LT
16 stn—

(™2 ?)

Q121 1ol (D) 9.

A1 U2 sHiS 20 o (AR A o1 A Ad vudl UL YRL

BELS2LL 20 A 3 fan (0 — 15°) = tan (0 + 15°), 0° <0 < 90° &ld, dl O = ..........
B3¢ 23 tan (0 — 15°) = tan (6 + 15°) 0ud ©.

tan(®+15°) 3

ST E e ©_15) 1 dils avil as.

tan (0+15°) +tan (6 —15°) DY
tan (0 +15°) —tan (B —15°)

Hlol-(adioL Sl

sin(0+15°) cos (0 —15°) +s5in (0 —15°) cos (0 +15°) )
" sin(0+15°) cos (0 —15°)—sin(0—15°) cos (0 +15°)

sin 20
-. N = 2
sin 30°
5osin20=1 (w2 ?)

T
" 6=Z wedl O = 45°
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Bie 1 20 pe 20303 6} Y AiRellALs AvAAL B, dell dHell AHIAR 1S A M. d¥etl AR e
GM. 2l a4, 5 6iRI6R $iA,

sin® cos0
PL%L'l i>\/25m9x2cos9 _\/ZSin6+cose
b = =
2
2710 4 o0 sin0+ cos L[meLmej
Z 9 2 _92\\2 V2
HART SN L
= 2\/5 4
(n .
aul, ~1 < sin Z+G <1 glael,
i -1
2sm9 +2cos9

_ 1
> 2\5 Y 2sin9 + 200&9 > 217$ s 6 e R Hle [a.h[l"l. A 9.

-

1 2ulel et C Al [ sl ang [Qu At oinl a3 del C i [Qtul il %4

Belsaw 22 :
O ¢,
1—cos x ) X
. 2x

(a) i @ cor =

1+ cos x 3 x
(b) 1—cos x @ - cor 2

1+ cos x
(c) inx (i) |cos X+ sinx

. X
d) A1+ sin2x (v) tan 5
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L2 X
28in" — N
1—cos x 2 _
3 —=— = tan—
G54 : (a) — = _x x 2
sinx 2 8in—cCcos—
2 2

adl, (a) 24 (iv) A2 %1419, (a) <> (iv)

X
l+cosx  2cos™

2 2 X ~ ~ . NN A .
= = cot” —
(C) R— X 5 el (b) 2 () e Al (b) > (i)
2 X

1+ cos x 2cos g X

(c) : =———=cot—

sin x XX 2

2 5in—cos —

Al (c) 2L (if) 18 ALL4L. () > (i)
(d) Jl+sin2x = \/sin2x+cos2x+2sinxcosx
= \/(sinx+cosx)2

= |(sinx+cosx)|. qil, (d) »L (iii) 412 B39 (d) > (i)

25 ool usll

tan A+ sec A —1 B 1+ sin A

1wl 5305, tanA—secA+1  cosA

N 25in o

N ~ ~ ~ l—coso+sino ~
2. %, ——————=y g, A AUBIA R $ —————— L4 Wy 9.
1+ cos oL+ sin o 1+ sino
1—cosO+sino, 1—cosO+sin0 1+cosO+sSino -
YA - = . al.
1+ sino 1+ sin o 1+coso+sina,
bY . . N\ Y NN m+n
3. %, msin 0 =nsin (0+20) 1A, dl U 5 5 tan (0 + o) cot o=
m—n

sin(@+200) m - -
[ — = dl v qa-(qulol s3]
& sin© n
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~ 4 ~ . 5 ~ T ~ . NN
Acos (ot P)=coisin(a—P)= 5 eldu0<o, < Z,dltanZoc'j:‘L@L ICIR

[42 : tan 2 o = tan (o + B + o — B) @l.]

N b . |atbh N a-b N
%tanx—;,dl b ath T HE LML
0 96 70

UG 531 5, cos O cos 5 —cos 30 cos—-= cos— sin 40.

) 90 .
[ 2 8Ll = %[200 50 cos;—2 cos30 COS? al.]
AacosO+bsin®O=maxALasin®—bcosO=n,dla®+b=m*+rPuloLd s

tan 22°30" <l [Fud 2.

0 6 8
o . __smz_ sm2c0s2_ sin® R R R
[AAA D HIRL 5, 0 = 45° 2 tan—= = = Al GualoL 53]
2 COSQ Zcoszg 1+cos®
2 2

UG 53U 5, 5in 4A = 4sinA cos’A — 4 cosA sidA.
% tan © + sin © = m A\ tan O — sin © = n 1A, dl UG 50 5 m? — n? = 4sin 0 tan O

[2{'_3['1:m+n=2mn9,m—n=25in9,Q)t:im2—n2=(m+n)(m—n)'{t@H@LOLSQ\L.]

rPtq
1-pq

% tan (A+ B) =p 7 tan (A - B) =g ¢4, dl 2dldl 5 fan 2 A=

[42 :2A = (A +B) + (A - B) dl.]
%L cos oL+ cos p=0=sin oL+ sin B &4, dl UG 5 5 cos 20.+ cos 2B = — 2cos (o + P).
[M2 ¢ (cos o+ cos B)* — (sin o+ sin B)? = 0]

. sin(x+y) a+b tanx _a

sin(x—y)_a—b tany b

N SinOL— cos O

Atan 0= ——— Sld, dl Abid 52U 5 sin o+ cos 0.= |[5 cos 6.
Sin o+ cos o

n N N\ N Tc
[A2 2 tan O = tan (06 - Zj qadl, d udl, 0= o — Z]

A sin @+ cos =1 &l4, dl O AUs HeL Hadl,

~ 1 . ~ ~
AHL52w 1an 6 = —1 - cos O = R A 53l 0 <l etus (Bud Haal.

S, dl AUBd 52U 5 = [ : dL-{axioL 2.
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%L cot O+ tan © =2 cosec O &4, dl 0 <l Aus (FHd Hadl.

% 2s5in* 0 = 3cos 0, %4 0 < 0 < 27 1A, dl O «{l [ZHd Hadl.

» . T - ~ : ~ o
% secx cosS5x+1=0,%d 0 <x < 5 e, dl x <l (34 Haal.

(g il usi
ol sin (O + o) = a el sin (0 + B) = b €1, dl
AU 530 5 cos 2(o— B) —4ab cos (o —P) = 1 — 2% — 25
[ : cos (o — B) = cos (0 + o) — (8 + B)) &S dAAddl 531

1-m

% cos (0+ ) =m cos (0 — ) &ld, dl AL 51 5 1an 0 =i SOt .

cosO+¢) m

: S Y N ‘\0_ ‘\:) N
[t s ©—0 1 al e ylaL-[uion s1]

3 .6 T . .
3 [sin4 [TR - oc) +sin” (3n+0c)} -2 {sm6 (; + ocj +sin® (51 —oc)} 4 4 AL

ol oL 2l B L AHLSWL @ cos 20 + b sin 20 = ¢ Al ol ¢y, dl AL 53U 5,

1—tan’0 . ) 2tan 0
v sin 20 = +1an 0

2b NN N\ N
tan o + tan B = T [ : cos 20 = YAl Gualol s3]
a+c

1+tan*0
%l x = sec § — tan § 2= y = cosec ¢ + cot ¢ &4, dl AL A 5, xy +x—y+1=0.
[t xy + 1 HAdl 2 gl 3 x —y = — (xp + 1)]

-~

8 ~N N N
%l cos O = 7 il O UYH AWML S1A, dl

cos (30°+ 0) + cos (45° —0) + cos (120° —0) v\t) He qudl,

4 T 4 31 4 5T 4 T . ~ N
COS —+COS —+COS —+COS — « H& HUdl.
8 8 8 g = °

[0 Ut [GrdReie {12 wauel Alg 3w 2l
3 o 3m : T 3n
2 (Cos4£+cos4—nj =2|:[cosz—+cosz—j —2cos2—cos2—]
8 8 8 8 8 8 |°

5¢0s20 + 7sin? 0 — 6= 0 ~ll AUUS G5 Hudl,
sin x — 3sin 2x + sin 3x = cos x — 3cos 2x + cos3x L AUSs G54 Hadl,

(3 —1)cos 0+ ( J3+1)sin0=2 -l 2Uus B3 2lHl.

RN T T T
: — 1= / —+ = G = —_ - = —
[f: 3 —1= rsina, 3 +1=rcos a dl. d4l tan o = tan (4 6] = o= ]
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(A At 6171 a A 2u0a 1R [Asennisl oy [Ase i 53] HA-n $HLs 30 2 59 awu [ st
?J{llil :

30. % sin O + cosec 0 =2 &, dl sin*0 + cosec?0 = ... .

A) 1 (B) 4 (©)2 (D) >0 19 35 wal AR,
31, %L f(x) = cos® x + sec? x S, dl .......... .

(A) flx)<1 B)fx)=1 O)2<f(x)<1 D)f(x)=2

[212 : AM > GM.]
32. Wtan 0= 5 ifan ¢ = €4, dlO+ ¢ § U ... Q.

A - ®) = (© 0 ®) -

33, dlAn U8l sy (A AU © 7 (5155 0 € R W)

(A) sin®=—+ (B) cos =1 (C)sec® =1 (D) tan 6 =20
34. tan 1° tan 2° tan 3° .......... tan 89° <| YA .......... 0.
(A) 0 (B) 1 ©) 5 (D) 1A .
20
1—tan”15° . N
35, ———5— L HA e 8.
1+tan”15°
@ 1 ® 3 © L D) 2
36. cos 1° cos 2° cos 3° .......... cos 179° 4, H& .......... 8.
1
A 7 B) 0 © 1 D) -1
37. ol tan © = 3 1 0 Ao ARAHL S, dl sin O L HA ... 8.
A b = 2
GV ® "o © o ® o
38. tan 75° — cot 75° <L HA .......... 8.
(A) 23 B) 2+43 ©) 2-3 D) 1
39, «{lAAi ugl .......... (A8 A 9.
T
(A) sinl°>sin 1 (B)sin1°<sinl (C)sinl1°=sinl1 (D)sin1°= % sin 1
N 1 ° Y
[ 1 WuA = 50° _ 57030 2U2AR]
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N\ m N 1 ~\ N
40. Atan o= ——ddtan = —— 81, dlo+ P =
m+1 2m+1

41.

42.

44.

46.

47.

48.

49.

@ Z ® % © X
3 cos x +4 sinx+ 8 YrldH YU .......... 0.
(A) 5 B) 9 (€ 7
tan 3A — tan 2A — tan A -\ & .......... 8.

(A) tan3Atan2A tan A

(C) tanAtan2A —tan 2A tan 3A —tan 3A tan A

. sin (45° +0) — cos (45° — 0) <, HA .......... 2

(A) 2cos© (B) 2sin6 ©) 1
cot(§+9) Cot(§—9j 1 U e 0.

(A)-1 (B)0 ©) 1

. cos 20 cos 20 + sin* (0 — ) —sin* (0 + ) = .......... .

(A) sin20+0) (B)cos20+0¢) (C)sin2(0—0)

(D)

ISE

(D) 3

(B)—tan3A tan 2A tan A

(D) 21l Usl s ual -3,

D) 0

(D) clv1Ad, .

(D) cos 2(6 - 0¢)

[M2 : sin® A—sin® B = sin (A + B) sin (A— B)-il Guulol $31.]

cos 12° + cos 84° + cos 156° + cos 132° -, Y& .....

1 1
A = ® 1 © -5
oz?LtanAZ%2>tr\ttanB=% 14, ol fan QA+ B) = .......... :
A) 1 B 2 © 3
sin—~ sz‘1113—1t o Hey 2

105" g L HEL .

1 1 1

A 5 ® -5 © -3
sin 18° = i e cos36° = i AL GuAlaL $3L.
4 4

sin 50° — sin 70° + sin 10° | YA .......... 0.

@A) 1 ®) 0 © 1

(D)

o] —

D) 1

(D) 2
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% sin®+cos =1, dlsin20=... .
A) 1 ® L © 0 O -1
b [N ~
. %Loc+[3=:em,cu(lﬂanoc)(lﬂan[}): .......... )
A) 1 B) 2 (C) -2 D) cvAd -2l
~ -4 ~ N ~ 0 ~
. Wlsin®= 5 i 0 o AL 8lY, dl COS; 1 HA 13
1 L _L L
® 4 ®B) = © - D) 75
[0, 27]HL AHLSW8L fan x + sec x = 2 cos x Ul G5el-l dvul ......... 2
A) 0 ® 1 ©) 2 D) 3
.M .M .2 . 5T . N
Sin—+Sin—+Sin—+8Sin— «, Y&, .......... €9.
18 9 9 18 S °
A sin7—n+ sin4—7t B)1 C cos£+ c0s3—7E cos£+ sinE
(A) sin—+sin==  (B)1  (C)cos_+cos— (D) cos_+sin
. A3 tan A+ 4 =02 Aoflo AR €1, dl2 cofA — 5 cos A+sin A HEA ..., 9
-53 23 37 7
A) - ® ©) D
. cos® 48° — sin® 12° | Y& .......... 0.
@ ® L © Yo o o
8 8 5 22
[ 2 cos® A — sin® B = cos (A + B) cos (A—B) 32 AuRL]
°z?ltanoc=7%{':ttan[3=% 14, dl cos 200 = ... .
(A) sin2pB B) sin4p (C) sin 3B (D) cos 2B
N a N N\
%Ltanezz 4, dl b cos 20 +asin20=...... .
A) a ®) b ©) % D) it A5 35 e AR,
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59. % xe R—{0} 4l cos = x+— gl dl
X

(A) 6 agsial o, (B) 0 sleslal 6,
(C) 6oRsWL . D) 6+l s (G sy -l

[Atim A o1n d 2d $4is 60 &l 67 wou st vudl oL YRl :

sin 50°

sin130° S &

< (Y L f5m) . (™) A o~ . . -
61. % k= sin (E) sin (Ej sin (KJ S, dl kb AvUlcs H €9.
~ l1—-cos B -« N
62. Atan A= ————— gld, dltan 2A=......... .
sin B

63. %A sinx+cosx=a s, dl
(1) sin®x+cos®x = ...
(i) |sinx—cosx|= ... .

64. %L 5125180 AABC L mZC = 90° g1, dl %+l 6il tan A 2t fan B 14 d qHls0L ... YLy,

2
sin 2A ]

[(A1 :A+B=90°=tan Atan B =1 e fan A+ tan B =

65. 3 (sinx —cos x)* + 6 (sinx + cos x)* + 4 (sin°x + cos® x) = .......... .

66. A x>0, dlf(x)=—3¢c0S 34 1412 & HA crrrrerens dAAHL i,

-

67. x-v&el y= /3 sinx+ cos x vl s1S [Blgd HenH 2dR ... 254 9,

Ul 5Hi5 68 Al 75 Hi 2uual [l A 9 3 YU A 519 Aldd wLual.

1—cos B

68. %A tan A= EEE— dl tan 2A = tan B.
sin B

69. sin A+ sin2A+ sin 3A =3 5155 ARdlAs A 112 U O,

70. sin 10° %1 cos 10° &l HIEL 1wl €9,

27 41T 8T 167 1
71. cos — cos — cos — coS§s — = —
15 15 15 15 16
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1520 sint O — 250> 0 — 1 <, AU 5 0+ 25 4t 0 2t 27 <l 9 1A ©.

N\ N\ N\ Tc
%l cosec x =1+ cot x 8l4, dl x = 2nm ¥4l 2nw + 5’ ne’.

. N nm T
%l tan O + tan 20 + \[3 tan © tan 26 = [3 S, dL9=T+g.

v N T 1
%\ tan (1 cos 0) = cot (1 sin ), dl cos (9 ——) =+
4 N

{12 el et C i [Qairin Acdt ot di 2o C, 18 sl :

(@) sin(x+y)sin(x—y) (1) cos®x—sin’y
(b) cos (x +y)cos (x—y) (i) :Z:g
© cor (540 i
(d) tan (% + 9) (iv) sin®x—sin*y
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